
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

4517.1 × 0.0001 = ________ 9911.7 × 0.1 = ________

4106.5 × 0.0001 = ________ 4543.8 × 0.01 = ________

1865.3 × 0.001 = ________ 5123.1 × 0.01 = ________

8466.3 × 0.01 = ________ 4610.1 × 0.0001 = ________

1523.9 × 0.0001 = ________ 1658.8 × 0.0001 = ________

3288.3 × 0.001 = ________ 8875 × 0.01 = ________

8506 × 0.001 = ________ 4757.1 × 0.01 = ________

9484.6 × 0.001 = ________ 8681.9 × 0.1 = ________

6916.7 × 0.1 = ________ 7615.6 × 0.1 = ________

5801.5 × 0.001 = ________ 3896.7 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

4517.1 × 0.0001 = 0.45171 9911.7 × 0.1 = 991.17

4106.5 × 0.0001 = 0.41065 4543.8 × 0.01 = 45.438

1865.3 × 0.001 = 1.8653 5123.1 × 0.01 = 51.231

8466.3 × 0.01 = 84.663 4610.1 × 0.0001 = 0.46101

1523.9 × 0.0001 = 0.15239 1658.8 × 0.0001 = 0.16588

3288.3 × 0.001 = 3.2883 8875 × 0.01 = 88.75

8506 × 0.001 = 8.506 4757.1 × 0.01 = 47.571

9484.6 × 0.001 = 9.4846 8681.9 × 0.1 = 868.19

6916.7 × 0.1 = 691.67 7615.6 × 0.1 = 761.56

5801.5 × 0.001 = 5.8015 3896.7 × 0.001 = 3.8967
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